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FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION - 2021

Part — I1I Time : 2% Hours
ECONOMICS Cool-off time : 20 Minutes

Maximum : 80 Scores

General Instructions to Candidates :
® There is a ‘Cool-off time” of 20 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® (Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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1.  Answer any 10 questions from ‘a’ to ‘I’. Each carries 1 score. (10 x1=10)
(a) Class interval in a frequency distribution is equal to
(i)  Upper class limit — Lower class limit
(i1)) Upper class limit + Lower class limit

... Upper class limit — Lower class limit
(111) >

(iv) Upper class limit x Lower class limit

(b) The World Trade Organisation (WTO) was founded as the successor to the
(i) IMF (i) GATT
(iii)) ASEAN (iv) SAARC

(c) First census after independence in India was conducted in
(1 1951 (i) 1947
(i) 1981 (iv) 1881

(d) Which of the following was used by Dadabhai Naoroji to measure poverty line ?
(1)  Squared poverty gap
(i) Poverty gap index
(i11)) Sen index

(iv) Sail cost of living

(e) The frequency distribution of two variables is known as
(1)  Univariate frequency distribution
(i1) Bivariate frequency distribution
(iii) Multivariate frequency distribution

(iv) None of the above
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L. ‘2’ 2@ T a00was ¢alsimsslol agomslene 10 ajapodlmn’ 20maeo
af) )@, 1 Ued03 alloo. 10x1=10)
(a) &0)araeB AleEIMTETIOe! GOQY HSEAS af)ING®
(1) 92WAMM aldlW] — YN aldl]
(i) 2B alAlW] + ®oYaN aldlW

DA al@lW] — YN aldlwl
(iii) 5

(iv) 92ABMM al@dlWw] x @Y aldlwl

(b) anales ®@MIGGHMAUGIB goled alladwod] @RWISEM ELIGHAIPAI00

avoaeism (WTO) adlelail@d alon.
(i) IMF (i) GATT
(iii) ASEAN (iv) SAARC

() UM NN WVIOEI BRYBIHBD HAVABAVLAV MSAN AIBaHo
(i) 1951 (i) 1947
(iii) 1981 (iv) 1881

(d) @y ®MIAEMMAUDIT  aG@®I6M  BOGI(BYGOE  GHEMNENIBDH)MMIMOW]

3030E@IM MAICNILE] OalEWIUIla] ROMHo ?
(i) @AW ¢aldaIdg] W§dal

(i)  Ga10aIBS) VYAl EMBALE,

(iii) eaLad AL,

(iv) mlmd lallmeajelal

(€) 6ME 2laB8)OS BRYAILTTI Al@OEMo af)aM alOWIN@.
(1) a2l @GRYAGDI QllMO6Mo
(i1)  Bfla1o @RIED allmoemo
(ii1) 6NIa0Y210 @R/AILGD] AllMemMo

(iv) epale@omae)
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Which of the following is NOT a commercial source of energy ?
(1) Coal (i1)) Petroleum

(i11)) Cow dung (iv) Electricity

Which of the following is an environmental issue ?
(1) Inflation (i1))  General price level

(iii)) Unemployment (iv) Water pollution

Mode can be graphically located using
(1) Histogram (i) Bar diagram
(i11) Pie diagram (iv) Ogives

The data collected from Census Report is an example of
(1) Primary Data (i1)) Secondary Data
(i11) Tertiary Data (iv) Unpublished Data

The economic activity which is included in the secondary sector :
(1) Transport and Storage

(i1)) Trade

(i11)) Manufacturing

(iv) Agriculture

A consumer price index number measures the changes in
(1) Retail price

(1)) General price level

(i11)) Producer’s price

(iv) Wholesale price

Which of the following is a Social infrastructure ?
(1) Roads (i1))  Schools
(i11) Bridges (iv) Railways
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10.

11.

Answer any 6 questions from 2 to 13. Each carries 2 scores.

Classify the following into biotic and abiotic elements of environment.

Soil, birds, air, animals

List out the two categories of infrastructure.

Name any two tools to study correlation.

Write any two factors responsible for land degradation.

What is head count ratio ?

List any two non-sampling errors.

Write any two issues in the construction of an index number.
What do you mean by privatisation ?

Write any two measures taken by China in their development path.

Identify the type of correlation.

¥ . y

0] (a) X O (b) X
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10.

11.

2 2)®@3 13 21908 ¢a1083BSEIG3 aBO@BIEN0 6 af)INOTIM DOMOOAY; ).
2 UeH»oA allmo. (6x2=12)
@06¢ @NIGlENMAINW alBlTLOIGIWIOS HORAI ALISHEIBUE af)M)o GRAORAI

CLISHENUD af)M)o AUBH 106

mearrg“, ol D03, QI0W), DYNEBUZ

@RSINOOM AVDHOYEIREOS OOV MR@IBlalAle9)AM] aBO®EI00.

MVaOMITW aloMBTIMAICIUIIENIN GOSN A6NE ODald:OMEIBUY af) LI®)d:.
2a1603 @Rala IQATIM BHOOEMAID:IIN O6NE *LISHEBUB af) 9@

®E! HWEN@3 BMaldB®o af)MOSLIND ?

aBO®EIEN0 ONE TLIMISIEE DO allONGHUD alISl®HOa|S)TND.

V)2 13,08 MBA DIV L)BS cBO@BILI OEME (2 1¢IEBUB )9O ).

VI B00QUBBHO6Mo af)ANMEBHENE MIEBBUB af)BEIM BRAMONILNIM®@ ?
£621M BRAINIOS AfldAVM AIdMWIM Af)S)OIT VENE MSaISIBHUB af) 91w .

af® Qo TLaONIMWEIBRIEM DA af)M @1Blo|0lW)d:.

¥ . y

0] (a) X O (b) X

FY-335 7 P.T.O.



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Below given frequency distributions are arranged in inclusive and exclusive class

intervals. Identify them.

(2) (b)
0-10 0-10
10 -20 11-21
20 -30 22-32
30— 40 33-43

Calculate the mid value of the class 50 — 60.

Answer any 5 questions from 14 to 23. Each carries 3 scores. 5 x3=15)

Write a short note on outsourcing.

Explain any three functions of environment.

Write a short note on ‘Indian System of Medicine (ISM)’.

Explain quantitative and qualitative data with suitable examples.

What is pilot survey ? Write two advantages.

Write any three benefits of organic farming.

What are the main causes of stagnation of agriculture in India during the British period ?

Complete the list that shows steps towards making a project.

(1) e (617 ISR
(1) e (V) e
[CTT) RPN (721 J R

(vii) Bibliography
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

2))a16s ®MIGIENMN @R/AIGII AllGEMEBSIOS g%oc(rrg EDSCAISHUD DUBC|BHNTI
dlallel) a8¥1a1066@3 Alamlaiens @0iladlafldleeam). @ldla|olw)d..

(a) (b)
0-10 0-10
10-20 11-21
20-30 22-32
30— 40 3343

50 — 60 ag)am oo AWML Yo BHEMANIDN)D:.

14 2)®@3 23 2100@)88 ¢21034BSE1G3 ago@Bslelo 5 af)aNOTIM 2OMOHA)®)d>.
3 aves0a8 alloo. (5x3=15)

a1}00aleMIB9E2G10MENOla] 630 1oLl Gla | BQYIN0HN)D .
allnOl@es agomeslene MmanN wAeBU3 AllVdBAOBB.

‘IIlOrl HHAIBLUITY TVMIBIVEBUWY’ o)MTIOMENGla] 80) e1oel) d)Flaf
@QONIHN) .

al@leMOTAS  BOMEBS  MFMICAD  BOMEBBlo  DBIAOOMAVaOIB0
QflvoB20He)B.

al@lauem qLAOQY] af)IMIBEIAT) ? EENE CMFEBUD af)91®))d>.

ORI HIWOS aBO@ELIENo MO (A ICWIRMETBUD af) OI®)d.

Enfiglay’ OEMILITD HIBeHld caRILIVIG MBI MESlaflond  G00eMEUD
af)OIMLI00 ?

B0) ClIoRY ©YIM®lend aflallw  ceigEBWd  HeMleNM  algld
al)AO I

(1) e (617 IR
(1) e (V) e
[CTT) RPN (721 J R

(vii) Bibliography
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Write a short note on bar diagram.

Match the following :
A B
(i) Date of birth of applicants o Qualitative classification
(1)) Applicants from different states o Chronological classification
(ii1)) Married applicants ) Spatial classification
Answer any 3 questions from 24 to 31. Each carries 4 scores. B x4=12)
Calculate mean deviation from mean for the following frequency array.

X 10 | 20 | 30 | 40 | 50 | 60

Frequency | 8 12 120 |10 | 6 4

Explain the role of private sector health infrastructure in India.

A statistical table should essentially have 8 parts. List out.

What are the causes of poverty in India ?

Explain the goals of five year plans in India.

Write the importance of statistics in Economics.

Explain the impact of economic reforms in India in 1991 on agriculture and industry.

Write the advantages and disadvantages of personal interview.
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22, M10@ WDWOTD )0l 30} §2101® Bh)Gla] BQIIS)H.

23.  Gal©)oalS] Gal@B® :

A B
(1) @RCEAISMBO)ONS BMMOTHIQG) ) NREMOTRD> AUBYBOMo
(i) al®yT QLoMLNIMEIRS] T3 o BOLIMYTVY® AIBYBHeMo

MIIM)BS @REGAIGHDHA

(111) aflaIPadl®EIW GREAIGHDD . quoeilo aIdyleoemo

24 2)®@3 31 AHOWBS ¢21034BSG3 aBO®EBFILN0 3 af)ANOTIM DOMOOAH); ).
4 avea®03 alloo.
24, @oey @anldlasman @RIiOll MloWes A0WIEMIE3 MIMMMBH AW INITIWOMo
BEMBNHN ).
X 10 | 20 | 30 | 40 | 50 | 60
Frequency | 8 12 120 |10 | 6 4

25. OB  GRYEAIWY  al@IOTNE!  AUVDBHOLINBSIT  AVIHOOICARILIVIOS  alB:
aflIcleed.

26. ®0) QLIAULD  alSldas  GRAIIAOD  af)g EBIVEBUW  DMNBOWIBIHHNEMo
alSl»0a|S) 0.

27.  epam el B0alBOONG $H00sMEIBUB af)OaME|d0 ?
28.  enMVI6LI aleIQIGIVE alBLGI®HS)HS LIBT3 AllaIGloed:.

29.  ALOMIGHI D VOOTVADTIEB TVISE YBHTTTIM B MY (IOWIMIETBUD ) PO

30. i@ 199168 MSq{le0asl® MOMIGTIED al@layo0enud &:oBaHld: casnlellen.
QIPAITVLIV S CacILIYILN DEMNBIGHIW BRMINO aNLIEBRUE ANlAIG]Be):.

31, aiyesiln® GREIMRIGDTING DIFMEIBG)o CROHEBS)o af)$)DD.
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32.

33.

34.

35.

36.

37.

Answer any 3 questions from 32 to 37. Each carries 5 scores. B x5=15)

A students activity in a week in hours is given below. Draw a pie diagram.

Activity Weekly hours
Study 15
Online class 18
Entertainment 30
Household activities 25
Others 80

Briefly explain the sources of human capital.

Construct a frequency distribution by exclusive method taking class interval of 10 for

the following data :

12 37 17 53 58 26 21 19 50 42
27 6 42 56 47 32 15 21 30 16
43 16 8 23 37 36 42 18 6 37

10 25 12 33 47 52 41 32 50 11

Explain the liberalisation policies taken by the government in 1991 in foreign exchange

sector and financial sector.

Write two main sources of electricity generation in India. List any three challenges in

the power sector.

Explain the points we should keep in mind while preparing a questionnaire for

conducting a survey.
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32.

33.

34.

35.

36.

37.

32 my®@3 37 A160WBS ¢21033MSEG8 aBO®BEILN0 3 afENOTIM DTNOOAYI®)c>.
5 avea0a3 allmo. (B x5=15)
30) aflzypdadwes B8009alleel 2aemlen)dlenss (1UBOHMEIBUD

21A1OSOMIGIEHNAN el AWD(UNo QUL ).

(1QIROMEBUD B3009al0leel
261 B9)0)HUd
aloMo 15
S06MEOLIMD GHOqy’ 18
aflemorenud 30
NOBaOlH (A 1QAUBBIMETBUD 25
ag1sx0l 80

AM)aHy MEIWMOING DOANSEBUB 2 )OJAS ag) 9.

@588 BOMEBURB alc@oUfla] Goqu sealg 10 @Ol aldlwamly] 8¥1a1000@3
AN @3 30) BRAKGHIANGOEMo GQYONIBEND :

12 37 17 53 58 26 21 19 50 42

27 6 42 56 47 32 15 21 30 16

43 16 8 23 37 36 42 18 6 37

10 25 12 33 47 52 41 32 50 11

aflesallrla®  caneidlene WMy  caaleidlen  1991-@3  waledeand

MSa lenaslw 9300IGGHOM MSalSldud allaItlee)d.

snamyleon! 6eaIBRGIl TEMEMATION OME (IWIM EIVIGOAVDHUB af))®)d.

OHAUBIEARIL] CMAISIAN aBO®EILI0 2)AN OAULNANFEHOS alGldHe1a|S)OT)b:.

80) VB MSOMINDIMOV]  ealoaiPalell  ®QO0ISNEMINB  UIRLleanME

@00 6IBUD af)HTNIOSBHOHWAN AflAUGIE)>.
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Answer any 2 questions from 38 to 41. Each carries 8 scores. 2 x8=16)

38. In India, Government’s approach to poverty alleviation was of three dimensional.

Explain.

39. Draw less than and more than ogives for the following frequency distribution and find

out the median graphically.

Class Frequency
0-10 5
10-20 10
20-30 20
30-40 10

40 - 50 5

40. What is sustainable development ? Explain the strategies of sustainable development.

41. Calculate mean, median and mode for the following data :

Class Frequency
0-10 3
10-20 7
20-30 9
30-40 18
40 -50 11
50-60 8
60 —70 4
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38 m)®@8 41 A6V ¢21034BS1G3 aBOOBILNO 2 af)ENTHIM DTNODAI®)cd.
8 MeH0A3 allmo. 2x8=16)
38. &0 @lmel aqudlaimadem 30clBy Mdmmod@amamImod] Mm@ qLAHNA

la@laj@. AllaIclee)s.

39. ©@oey @aldleman @paesll al@osmodiled eelqvEom asflal)  c@0@3003

slalo AN . (NIal PalCIUIla] AW LB dHeNB)allSlen)d:.

POQ | @RI
0-10 5
10 -20 10
20-30 20
30-40 10
40 -50 5

40.  auudle alle:arumoe ag)aMoeelm ? AV)ILGIEANETVM @MUY AllaIG]Ee)w:.

41.  anaes ®@aeles)an BEMEBB)OS ROW o, AWOBH0, NUa0)LIdo EDAI GHIMD :

POQ | @RI
0-10 3
10-20 7
20-30 9
30-40 18
40 -50 11
50 -60 8
60 — 70 4
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